Zwell.

HY 1 55 BA &=

DU, SHREZSBEV LEFVEEFLTHDHESITETVET,

YI7LIWI U= TvyasSvF

ZL-2901

HmZEREICTEAL TV EDIC. BFCOBIHAEZ LK BHHFDI X EULLEDMAIFZITL. SERLEEL,

3=z
AN\ EE

F FRBOWMDHIFE FEICH > TIELLHEILTLEE L,

EELADTECTWMOMIFET E. AROUEDNEBETELEVEDD THEL ., BRIBEFEICKDBDORBITHZET HENNSDET,

- CEADERIE. BTREZERDTHSDEHZRULAATLEEL,
DEHERULAACRETEECREZRED 2 L. BmPARNKIET 2RRELEDE

ER

WEBaREAHH (R DBRIFEHIF SNRETRITNTNET)
Y- T2, Uil G T 1@* ] 1@
N Rl a7 7 S 1@* IR ARLE 3.1X10 - - e e e e e 34
cFEIUFRSMQL M3X25 - - e e e e 13> CHERERARQL 3.1x28 - - e 27
W{TERE (84 : mm) EISEEE © 13~23mm AR
x
t
DEH
e = B
AN YD
. - |
FERA 2 3.1X10 A ffp'jg%’?”E #
FSZ/val Kial
M3 %25 RENA 3.1X28 L
28
Z v FAE o R S N . ¢ ;
5
X e |
N | | ‘
e - g
ME [ l%’ S
L \
2 & n ‘ } Jk
SEHI—R i | j‘ Ay
| — N — .y . e 1~
1 Nhi 2 RE H% (REEHSDYY URS)
s 13~23 RE-13 (FEH)
(EEEH 13mMmODIFEIF. ¢28mmEBNELEDXT)

MEIFIE

1 £ MRA7UINIR] #88BUT. EEOMBCTUNTET>TLEE,
BTN LR ICHEARBEENRICESENL S, ENVICEDERLTH
SEmZID I TS,

HAHMIFEBRORL (TFNMT RSRNRLU M3X25) ZIFFLT. Lo
EABBRZIES L. ERADSDEHT —RAZEUVIAANTLEE L,

BEEENSS v FAFZEEULIAANTLIEE L,

4 SyFAREORREETZIUT RS M3X25 TEELTL S,
ZOKE. RQUOEDRIFFTr—ZADHIDOOEVEE (HEEHET MUY
4kgf.cm) [CEEHTLIREELY,

HED FICHEHMITRE, BBOERICHEDET,

Sy FEREDOLETZTFAMAARRL 3.1X28 (2K) TEICEELT
L<TEELY

REZEEMEICTFIUTAARRL 3.1X10 (2F) TRIESHULTLE

AN

- BTHRBZTVEIDT, REORNDHZEREEL TLEEL,

- b5 [MERRE] OXEIEE. 4y bR 7D bty bR
EBICERADSDTEELEDET,

DEHFDMRULIAHCKWVNESE. REORMIEZFfA (LK [T
M1 OREDADOAME) [CAULFSULTLEELY,

AR, REZRIES UTLZR UZfiHFFT. ZDDRUIN 1 hFrbEE
ELTLEE L,

WEVLDTE

BEZEADIcE. DIHZEHLATE, SYFHEESNTENOYILET,
(DEHEE | DIARTEIRREICIED E T )
OvI%Z@RTD (DFHZHT) [CF. ESICOIHEULIAALTL RS,

BMERARORE « XVFFVR

REBEOFERAICELD. EHAROEODENTH DI DE. EREICEEL
BLIEBDIEDBDET,
ZTOHGF. EORTCHITZREI DD FmOBMMIBEZHREL TIIEEL,

AH@ICEATHCEHR - BT BELVRO WV EWERTEIE., X FEEORBOICHEELWVWELE T,

7—*7oroR—rE BEES 03 (3864)1122
ZaiE A~ 9:00~17:30 &k 54 ESHEEEER)

FAX 03(3863)6875
E-mail : support@sugatsune.co.jp
ERBTFRARXRSEAR2-5-10 T101-0032

ZARYRIE

LAMPHIOEEERT Y1 > YA —H—

SUGATSUNE

ISO 9001 (JSAQ384) - 1ISO014001(JSAES97) BEEER
#IS09001:ENEHA IS014001: FEELS TETIR B&U WRELEN Wt y—
http://www.sugatsune.co.jp/

2013.04 PRINTED IN JAPAN 0345-2




Zwell.
INSTRUCTION MANUAL Zweil SERIES PUSH LATCH ZL-2901

Thank you for purchasing our products.
Please read all instruction carefully for proper installation.

/A CAUTION

- Sugatsune will not be liable for any injuries or damages due to improper application or use on a door that is not within proper specification, or by disassembling /
customization.
+ For the prevention of breakage or any other further damage, please do not push the knob in before closing door.

B Parts Description (Parts marked by % are already assembled.)
. HOUSIng ..................... 1 pc* . Counter plate ................ '1 pC
« Latchbody « « ¢« =« ¢ o e e e e e e e e e e e e 1 pc.* - Fixture screws (3.1 X 10) = = « =« « « « « « - 3 pcs.
* Truss screw M3 X' 25 =« « ¢ o o v oo e e e e e e 1 pc.* - Fixture screws (3.1 X28) « = « « « « « « « - 2 pcs.
B Specifications (Unit : mm) Door thickness : 13~23mm | IlSide Elevation
Up
f
Knob
Door
Counter plate
) Counter bore/ Down
Counter plate :I;l;(t;rfoscrew kSpot Iacipng2 —
. 040" . . L
Truss serew FUIo SIe | Hoje ancons for Minstallation Hole Processing (Unit : mm)
M3X25 3.1X28 Back side knob cover
28t Door front
Latch body =T Latch body ; *7j surface
~ e ] ]
o & Xe2 Side | ¥s5Z i i
" 82 T 1 3 Board | 522 S
~— E8m 214 ‘ ES
O3S A ‘gé oo l \
l *D\_% T ZigfilL l \\\~——"’/
—~ \
& ‘ - »«LH
Housi i
oueing Door front surface J; ——J‘ Door HC bore/ tacing depth
1 | 32 2 thickness :Counterbore/spot facing dept
L 2 ;g% 13~23 H=Door thickness-13 (from door back surface)
(Door thickness 13mm — ¢ 28mm penetration hole)
Minstallation Procedure
1 Bore the hole in the specified location on the door. (Refer to Installation Hole 5 Fasten latch body top and bottom to the door by fixture screws (3.1 X 28,
Processing.) 2 pcs.).
Be sure to clean up wood debris and all dirt before installation.
6 Temporary attach the counter plate in specified location by fixture screws
2 Take off the assembled truss screw, and tear all parts down. (3.1 X 10, 2 pcs.).
Push in the housing from the front surface of door. - Attach temporary in two long-holes.
+ The installation dimensions marked by 3 are lengths measured from front
3 Push in the latch body from the back surface of door. door surface, this applies to inset door specification as well as of outset
door specifications.
4 Fix the center of latch body by truss screw M3 X 25.
(Recommendable fastening torque : 4kgf-cm). 7/ If the latch does not work properly after installation, move the attached
Fastening tighter than necessary may cause damage. position of the counter plate towards the front (See Arrow A).
8 Tighten the loosened counter plate by fixture screws, and fix the rest.
HEHow To Use EMaintenance
To lock the door, push the knob in after the door has been closed. After repeated usage, the balance of door will weaken, and the item will not
(The knob head will be concealed.) work properly.
Another push will activate the knob. Please readjust the position of either product or door.

SUGATSUNE KOGYO CO.,LTD. SUGATSUNE KOGYO (UK) LTD. SUGATSUNE AMERICA, INC. SUGATSUNE SHANGHAI CO., LTD.

Phone: +81 3 3866 2260 Phone: +44 118 9272 955 Phone: +1 310 329 6373 Phone: +86 21 3632 1858

F a x : +81 3 3866 4447 F a x : +44 118 9272 871 F ax:+13103290819 F a x : +86 21 3632 1868
E-mail: export@sugatsune.co.jp E-mail: sales@sugatsune.co.uk E-mail: sales@sugatsune.com E-mail: lamp@sugatsune.com.cn
Website: www.sugatsune-intl.com Website: www.sugatsune.co.uk Website: www.sugatsune.com Website: www.sugatsune.com.cn

1ISO9001(Japan Offices and Sugatsune America) and ISO14001(Chiba Production division and Logistic center), certified.



